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5.4 million die of smoking related causes every year.
That's 2000 times a 9/11.

/
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"I like to think of statistics as the science of learning from data...It presents exciting
opportunities for those who work as professional statisticians. Statistics is essential for
the proper running of government, central to decision making in industry, and a core
component of modern educational curricula at all levels."
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"Statistics is the scientific application of mathematical principles to the collection,
analysis, and presentation of numerical data. Statisticians contribute to scientific inquiry
by applying their mathematical and statistical knowledge to the design of surveys and
experiments; the collection, processing, and analysis of data; and the interpretation of
the results. Statisticians may apply their knowledge of statistical methods to a variety of
subject areas, such as biology, economics, engineering, medicine, public health,
psychology, marketing, education, and sports. Many economic, social, political, and
military decisions cannot be made without statistical techniques, such as the design of
experiments to gain Federal approval of a newly manufactured drug."

SHSOler AR AZ0 et 2, OloIe2 =&, Mel, =4, 22 S dote e
Olet d2lotl QUCH e, SHC 2Z20 ot TSt 201 2okl AT

"The Nature of Statistics

Statistics provides the reasoning and the methods for producing and understanding data.
Statisticians are specialists, but statistics by its nature demands that they be generalists
also.

Mathematics and Computers Are Involved ...

Statistics uses mathematics, but it is not abstract or isolated: statisticians work with
people from other professional backgrounds to solve practical problems. Statistics uses
modern computing to organize and analyze data, and statisticians command specialized
tools, but the emphasis is on the data to be understood and the problem to be solved
rather than on computing for its own sake.

... But Understanding the Data Is Crucial
Statisticians must know more than statistics. A statistician who works in medicine or in a
manufacturing plant or in market research must learn enough medicine or engineering or

marketing to understand the data in their setting. Statisticians need the ability to work
with other people, to listen, and to communicate."

SHS=2 OOIHE M4atot Oloficts =2l EHSS MSEtC SHSUM =

[ 10 EIEEERE S

o
=1}
oy
IH
o
]



MESH)|= otLt F&EQ SF2E OfLIL
ol 2XHES iZs)l {6t CHE =20k
cist 2O0FS 0l CHst A0l QU00F ot
S20| A00F BCH SHS MM E ZEH
Of0F & S& 2L O S5ttt

Jdefd ©£2Z MO|E statistics(SHS)
0lE SAUN? 0] & SHHE FEDD

statistics(SH &}, #at2):
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a mathematical science pertaining to the collection, analysis,

interpretation or explanation, and presentation of data.

statistic(SEHZ #stE, SHX #HEHE):
to a set of data

the result of

applying a function(statistical algorithm)

Ct42 MQ|= statisticse ‘SHSH0lels SR(MHEE &, 24, oM, &Y, T8l =2l
BEHE Ji22D B4 M M0|le statisticse= SHE(KAS0 &2 Hgst 2, AXHE 2
20| OIZ0 KD &ol HE 4 JAs 2E 20 J0 =0 Jisds &6t Y)0ILE EAH
X(EHE AN 2=gH)o 22800 KelJt BEE ‘SH'2tD Lots SoI BI2 0l S
20ILE S HXIE Jtel2lICh.
QIE{YllEH ILALE Microsoft Encarta (encarta.msn.com/encnet/features/dictionary/
dictionaryhome.aspx) 0l Al = ‘statistics’ @t ‘statistic’S HHEH E&otD US?

statistics statistic

sta-tis-tics [ sta tistiks ]

noLn

Definition:

branch of mathematics: a branch of
mathermatics that deals with the analysis
and interpretation of numerical data in

terms of samples and populations [ tekes 2
SirrgeAar etz )

plural noun

Definition:

collection of numerical data: a collection
of numerical data [ tekes g ofwraf verb )

* iy months safas statistics

[Late 18th century. < Gearman SHafsies
Latin statirs (see stated]

S22 MO|E= statisticse ‘SHE0lets

sta-tis-tic [ sta tistik ] (miersf statistics)

noun
Definition:

1. element of data: a single element of
data from a collection

2. numerical value or function: a
numerical value or function, e.g. a mean or
standard deviation, used to describe a
sample or population

3. piece of information: somebody or
something treated as a piece of data or
information

[Late 19th century. Back-formation
< statistics]

* sta-tis-ti-cal sfischve
+ sta-tis-ti-cal-ly a5vars
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Search the site . Hooaiat

STATISTICS CANADA

CANADA'S NATIONAL STATISTICAL AGENCY

Statistics by subject >

Education, training and learning
Information on activities whose purpose is to develop knowledae, skills, understanding, and values.

Suptopics . T .

View resources (Daily releases, data tables, publications, and more __) for the Educaticn, training and learning [overview

following subtopics: Education Matters - Gur bimonthly pericdical

-
-

= Education, training and learning (general = Education Indicators - Addressing kev policy issues in education

= Adult education and training = Research papers on Education

= Education finance = Research papers on Adult Literacy

= Education indicators = Teachers and students: Learning resources

= Educational attainment

= Fields of study

= Quicomes of educafion = Council of Ministers of Education, Canada

= Students = Canadian Council on Learning

= I=sachers and educators = Canadian Education Association

= Find all

NE EHSYUS X6 st LSHORA &1 SHME L ABOISHIH SH
S8 3| (American Statistical Association)
Hi%oF LIEFHCH 22 O8(x-&5- 088,
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0
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n= for Statistics Workshop for K-12
Teachers

For = list of 2008 candidates, click here.

Sicgraphies for the 2005 candidates can be found here.

—rd othor information
spam-blociking filtars o

Call for Nominations - FUture ASA Officers

Ine Committee on Nominations asks members to Suggest names to be
=red in choosing candidates for mambers of the A=A Soard of Stmdants Join For $10
o

= mnd Section Officers for the 2005 clection. More...
Sponsor
ASA Membership!

2008 Poster and Project C. iti : New i on
Working with K-12 Students to Create a Statistics Poster
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Exploring Data

http://exploringdata.cqu.edu.au/

The CHANCE Project

http://rtmouth.edu/~chance

CAUSE(The Consortium for the
Advancement of Undergraduate | http://www.causeweb.org
Statistics Education) web
http://www.stat.auckland.ac.nz/~iase/islp/pri
International  Statistical Literacy | teach

Ak Project http://www.stat.auckland.ac.nz/~iase/islp/pri
Alol E class
NCTM Illuminations web site http://illuminations.nctm.org/
JSE(Journal of Statistics Education) | http://www.amstat.org/publications/jse/jse_in
Information Service fo_service.html
ARTIST  (Assessment Resource
Tools for Improving Statistical | http://app.gen.umn.edu/artist/index.html
Thinking)
STN(Statistics Teacher Network) http://amstat.org/education/stn/
DASL(The Dataset and Story )
] http://lib.stat.cmu.edu/DASL/
Library)
) http://www.dartmouth.edu/~chance/teaching
Chance Project Datasets .
_aids/data.html
o] g U.S. Census Bureau home page http://www.census.gov/
PN FEDSTATS http://www.fedstats.gov
WWW Virtual Library http://www.stat.ufl.edu/vlib/statistics.html
UCLA Statistics Data Sets http://www.stat.ucla.edu/data/
UCLA Statistics Case Studies http://www.stat.ucla.edu/cases/
Rice Virtual Lab in Statistics http://onlinestatbook.com/rvls.html
Robin  Lock’s age at Saint
) p & http://it.stlawu.edu/~rlock/
Lawrence University
Al Coons at Buckingham, Browne
) http://www.bbns.org/us/math/ap_stats
and Nichols School
Herkimer’s Hideway, prepared by ) )
71E ) http://www.herkimershideaway.org
Abo] E Sanderson Smith

M&M's web site

http://www.mms.com/

The School  of

Science and Mathematics Statistics

North Carolina

Summer Institutes

http://courses.ncssm.edu/math/Stat_Inst/link

s_to_all_stats_institutes.htm
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"The formulation of a problem is often more essential than its solution which may

be merely a matter of mathematical or experimental skill."
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1.2 (2D H2) (1) o HEAINA AEES LOIEDXN O HEAMY &H s o7
= 1,0008= FE0l0 0152 AFES IMECEN O A &H AYES L0t
DX BtCh Ol 3% 2ECEW 220 AKX otet.

(2) 2t [2t01 22t 1,0008A S ==6t0 &Y

1.3 OIS Xze 8FE2 200X (www.me.go.kn)0ll Ae 20048 MIZAITE HIIRLESE i
ES(HR: E) XZ20ICH 2IF WIILEHEZNAME CHest UIIQYEEd 5 s#HI|1= U
JQASEQl LASELA(CO), EAASZS(NOX), EASHS(SOx), HAsE

VOC(Volatile Organic Compound : &AM RI|gs=2) S0l &t HEZ N=SE HBst
o OIDl & X s£2 UEHHsE S4AXQl ZS8HOZE TSP, PM10, PM2.5 S0| U

}. TSP(total suspended particulate

(-

HF
a
A=

rr

| OfH
I
10
0z

2 A& 10um O|cte! HXI2 20|H, PM2.5= &
Leltiet SFIIESHUHM= TSP PM100I Tt s% JIZ01 HIAIEH QUL
AR CcO NOx TSP PM10 VOC
A& e A 161,154 103,549 4,585 4,424 77,694
F2bg A A 50,187 73,486 3,469 2,994 35,013
-4 A 41,013 41,446 711 2,405 2,154 42,400
ClHF A 48,694 70,380 ,367 2,983 2,635 58,600
g A 18,363 17,054 1,265 861 828 14,248
o) 2 g A 22,299 22,497 1,423 1,085 1,052 14,195
Sk A 31,049 64,512 59,230 13,266 8,737 84,708
37 %= 147,336 201,078 31,387 10,287 9,346 161,266
AR 31,842 73,605 21,564 5,865 3,749 19,236
ZHEL 35,832 52,147 13,265 5,442 3,333 26,759
T 44,087 234,958 62,936 5,784 4,568 50,754
A e 32,547 49,099 12,633 2,906 2,513 28,797
Aepd e 37,842 98,485 58,024 7,858 5,656 62,523
B E 55,696 0,3 33,791 7,436 5,582 46,387
Add e 49,801 103,959 5,301 4,433 69,708
A5 9,213 2,233 549 186 1,949
(1) O AA2E Ret 2H 0| 220letD M2Ast=01?
(2) Ol Mt2es AEATRE S50 2HZEI? 2SHIPE Solo LB/ =017

@D 1 Az9 A%
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AEE2A2 g§Mo ciet 59 HHZ PERotel EME N2 E2Ho=Z Xg9 22
£ S IYEHCH Ol Sol s&8t A0l SH JeHZAOICH HAZM LEHLlE DHE=
AEEANQ ZUE MLESHL ®AIGt=0H M0l B2 HE A(informational graphics) <3
2 D0 YD F2OHHANME HDHZ(bar chart?t column chart), 28 el Z(pie
chart), 224202 Z(line chart), 1 i Z(pictogram), S H Xl =(statistical map) 542 1
HZ =2 A8EH UL

FEHTAN (e SHE 289 H=Z M Rel= US 201 17JHNE UgE = ULH
(1) XtZ2 3AJ12 Jdefi=el IJIDF dldlohkl Z=Ch
(2) AIHEOHZNAM AES =2 2t201 LEGHK &

(3) &2 Al2tTHel HIWE ol Kl &=L,

(4) JHZOA K2IF - QACH

(5) DM =AFS =301 S2HUHA HIZAL DeHEQl S HAIDE UL

(6) JeHZE XSG |6t0l STy S 226t HE6H0

(7) JeHZOIA BHZO=01 X2 0l CHEH o= (decoding)E 2ali&HCh

(8) AIHEOHENA +=EBFC J|IEHE8 SKROHK Z=Ch.

(9) Q8 08 QAE WE2HL SEQS J8 QAE FHIAIAH dHE Ao X HlWE
2o SHCE

(10) Xt2 0l X &= =S HE6H0 J2ICH

(11) X=20ll et RUE ESE M otehe SHE HsEs 5 M QLIUCIXE HolKl Z=Ch
() E2E L E2EEHA
(i) EBEZ+HE22X
(i) 2EZ0 e 100(1—a)% AMIARZH(HIIM, a= RASE)

(12) Xt=23t0l HRIE 2= J20 HEAIS otk E=C

(13) SXE29 AIZtE 2 Al(visual metaphor)E P AISHCH

(14) BB DL A JHZIF 8iCh.

(15) 2=2J5t04 08 40 et 4H0l SelHLt A ACH

(16) FEJNTE BHEGI0 EtR, AHLE, SLEAHE S22 AESE I 2 8F2 HAYS 1
cASHAl &=Ch

(17) AIAESOHZUAM HE2ESS HZE [ S01E 2D 96t AH0| OtH CHE HES
Ct.
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[0 4.29] ZeMdchzZol B

S YIHMNE O HCH HTS LU0 EHOR o
A2 SAGAL SHGHD| ok A0ls FRI UL DPIHD

g2 X2 3JIe AWTol A0t HIAIGIGI0F BITHE AR
OICt. [0 4.30]2 1978E2H 1985E MKl 2 & OtelXz o HE U=k =

This line, representing 18 miles per
gallon in 1978, is 0.6 inches long.

Fuel Economy Standards for Autos

Y s 22 Set by Congress and supplemented by the Transportation
i : . ] § Department. In miles per gallon.

"\\ 26

This line, representing 27.5 miles per
gallon in 1985, is 5.3 inches long.

[0 4.30] XMIsA &84 JIFES LEUWE 4=

A2o 3D MmO IDIJF dHldotK %2 M 2AR=XI4 PDI(perceptual distortion
index, £ lie factor)= CHS1H 201 HColotd 0O 201 10001 OlLIY XF=Sl H=0 M2ICH
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0= ol Oistel Tuftew==(2001)01 25t [ 4.30]0lA CIOIEHS 2219 St
(27.5-18)/18 = 0.530I104 &2 AJI0 2E = 7.830122 0 A0l HXD2 A= A

gt SH(lie factor)= 7.83/0.53 = 14.80ICt. =2 2XE E0= J0let & %= JUCH 0l
st =2 XS s ddle HEUAM RUl2 E2xE HlnE ot ol d*A E=x
HAte XS BEFE AU T LIEFHCH [O™ 4.31] € [0 4.32]5 Z=XolJ| dietCh

' INTHE BARREL...

Price per bbl. of

N e
T 02 s 24HEN. OS [0 4.33]2 20074 gai=l 2MEEY 210l D202
A0 Lty JE80HZS0IC Ols2 s=0U ZFZBHA NFHAAHA 2HE RX 0lF
AFXGASS AN HGIY et HAREHE 2Is86t0 2 ZU0ICH SIitgle FUAS
Sl =SCOEIOER =012 SOIAH "L o7, AHH, =8 S$30Mse 22 Al IS
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2 201 Holor AM SIS, JYHTNAS SIHIE, POI S bl
SS0IA B0l MY 3D FUAS SS0IME HB0I MO

. Agol A o] S7HH & e zo e SR PDI %t
Hx Z HE A4 = F
Q1 1.08 1.23 1.53% = 2.33(1.53* = 3.56] 189.4 329.6
AH A 1.37 150  [1.63% =2.64/1.63° =4.29| 176.0 313.1
FHAE 1.82 2.07 1.73 1.73 83.6 95.1
Fo 1.27 1.33  [2.40* =5.76(2.40° = 13.8]  433.1 1088.2
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I = 92%Jt =0I2CH Z0| o 2ZCh (S) 89 OeHE = & 2/30t LL2IF 1.42
1.8 ALOIOI U2 O ALOIO & dciEsS & H2 JAHEZES0l o 20/ Of =0/2 HIJt &=
BIECH O 2ACL” Playfaire SHHE AL OtHRI2tD LZ= AFOICH <2 218 =0A
“=0I2C0 20l O 2U7cte 22 22 201 120 ACHet= 20I0ICH 0DIM S0Iz&
=0l 23Hl ¢=(v5+1)2=1618JF HA=C D ALt Rele HEHQ LI+ ZOZ M
1,V2=1414,0 = 1618, /3=1.732,2 SS Mol 2 & UL
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Sunspot Number vs. Year
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ZSEW WIAN BYH 08 [0 4.42]2 22 F M2 FE0HZIH LIEHLE JCH ZUH
212 =2 MZ=S HEGUEL g3 A0l 8FE AZ Bluodte O 4420 HoE
ot UCH CGS [ 4.43]0 201 4 A012 22 B0 22 MZS HHEoto & ek
ZE Hdots A0l dcH=A HHa O +=Zotlh

ﬂé 2 ¥ vek AsHEe] 4 2 gdude] Z2ogd Ay
T #e 2Ade) e Aeld

T LT EETETTPNET R

[0 4.42] gHIm™e =21

LU E Al M= AL19981)

b
(513%)

fae aga
(153%) 1616%)

[O% 4.43] 2HIde T2OH AIZES LiEtUHs FE0HE(E)

« ZEHCZ 1822 NgE Helole dR0e NIt 2ZHotdE 8T 2HHot0oF ettt
A U220t SEOIHE J82 2tH6hH 200F 8tk 12l =8 HI2AD1H SK Lt
Azt 32 JEBF0A OdcHZe aEd2 I AEXe E0IL XA, £= A2 e

NZ0l 26te A2EII= otXlgh JdefZel &0 SohMTE HRECL Al2d F2dL)ES

N @Al ez, Tz ZHgX, JehZ AR AOI0lE TS [O8 4.44]2 22 2tHDt

gg ettt
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[0 4.44] Dz, JDH= AKX, JcHZ ALSIE A0S 2

Jef= ZAX JeHZ AFSXH AH0I HZ(link)0l JIFRE IS JcHE ASXt
FEH € > A= FEQ 20l HOtXD FE9 &0l £0HE HO0ICH D= ZA IO+ 2O
G Xes AHZE FHHoEHLE, D= A= ha Je=ofl st AEXIA £= HE0| o
OH AMLFE MYUE2 MGHH WAUTALE H=TD CHCLH HAE2 Z-LIs AFEIL =
ANES UHAaC=Z o) 20 JdiZ ARSI 2= S4ES g4 WESD JUCH DH22 1O
T MAXE S & £2 JHTE LS00k 6t J2i)| fshAs JeHZol et XA
S2011 CIXClol thet M2J1=% =100 0F St

Schmid(1992)= £& A =ZJF JIH0oF & &2 UsS 20| 5JIX2 Q46|
1. A& H(accuracy)

2. E=4d(simplicity)
3. B ZH(clarity)
4. 32 M (appearance)
5. & CIXelEl 2 (well-designed structure)
Ol0ll €235t £ D= E Jeldl Icte O3S 22 dEtRas ugEg 5 AL

. N2 E UEHHO et
D EE HE, He, E=2ot ddcek
. SAhs2 S0 2 otet

1. A2 YUZXI2=(data density index, Xt22 H2=/em?)
2 DYD4
3. oAl =X

Asg adze 2 o wnn e @



4. M= 3tdl(data ink ratio, AAIZE UEIHE O Aol 239 /0= E el o Mol
39 &)
5. JgoA HH= g WHAUSHAML JI22= ME

S Dot dcHZE X Hot0ioF 8Lt cHZ FEAIF JHEE elBA JI=stet 32
£ HAZS AMEXL SOt AIAR2=2 oi=ct= 2001 D8 Aal A0l Cleveland(1985,
O] Al %

Flet Wty = HMAlGHL

AN T2 E Jlssztots 212 100Q D22 E(elementary code)etd) FEoIUCH OS [E
4312 0] 10019 JI=232E9 =& ZE A0S ME(0l MZE0l SS42 OZiA $H
HEE AN2XHo=z F=ZolJ|0F &h)S ugs Zolt

! EASS

Clo|N|o|o|s]w|n |~
N
o
N

JIZ2E0 Ug HE s 24 O3 ddiZ & 2F9 JASIHZ0AM 28 H==2 37
(A=30, B=29, C=15, D=14, E=12)Jt RIHE2 2=t LIEIHO. Rel= 2&2 AIIE & &
g It gl AJF 201, Bt 2217 CIt 2+, DIt 2I1? 01 =28 EXUE=Z 2 2E
Z JHmer 20 2 BF2 IJIE Al 2 = UACH o 0l S0l LIEHSN? 2 el
ZOIE2E 222 NE: 4)0lM BXEQIZRE 22 0l UEoI'a AE: 1)2 e
A ME0I 404 12 Sct822 2 82 IJIE g € = U & X0I0H
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Moscow L ]
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Dublin
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Turin
Genoa
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Stockholm
Edinburgh
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A O
AT ASE2N
4.1 Os Nz 20058 48 NMSAI0A 2AIe 23 XF S3AE =0 et =8S oA
= 22E 2 A=0ICH 302 H=201 H0l IS0l & U2H Bx= 602 A2
2 FHH0 ACH Ba= SN2 L0l(age), &8 (sex), X (region), XU (children),
SS(salary, &2 2Hl), 2 A(opinion)2E RAEN QUCH Liol= = (35A0/8t,
THOIZH, 60CH OIA) Xi2(age_cal® 121D A¥2 0jXel A2 1 12iD gXiel %@
= 28 Al JI=(sex_mod)otALCt ell) /A2 12H 5K HE2 HIl =2H
==5 SFAIE RXI0 BtUiots 2/A0 Z6tCt. <F0OIA xIs>
A B £ D E _ F G | H
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3 age Sex region  Children  salary(’100003| opinion age_cat sex_mod

4 61 F o= 2 g,200 1 elderly 2

] 7 M s 2 5,200 5 middle-aged 1

B 32 F o= 3 8,140 1 yaung 2

7 RS F o= 2 4,960 1 eldatly 2

g 40 i a4 3 4,770 4 riddle-aged 1

g 32 F ZE 1 55990 4 yaung 2

10 3B F 4= 2 3.900 2 ridd|e-aged 2

11 48 h UE 1 5,150 2 riddle-aged 1

12 40 1] 4= 1 4,450 3 ridd|e-aged 1

13 44 h e 2 4,520 3 riddle-aged 1

14 a7 F o= 2 3,670 4 middle-aged 2

15 el F o= 2 5430 2 yaung 2

16 49 M = 1 5,210 4 middle-aged 1

17 34 M o= 1] 7,800 3 yaung 1

18 B M 4= 1 4,330 1 middle-aged 1

19 35 M &I} 1 6,540 5 ridd|e-aged 1

20 35 hl g 0 £,320 3 middle-aged 1

21 33 F —gn 3 4 530 3 young 2

22 45 il ity 1 4,550 5 middle-aged 1

23 a7 hl g 1 4,810 4 middle-aged j

24 s F I 1] 5810 g riddle-aged 2

25 37 F &It 2 5,600 1 middle-aged 2

26 42 F o 2 5,340 1 riddle-aged 2

7 49 M &t 1] 4,320 ] middle-aged 1

28 52 M &I} 1 4410 3 ridd|e-aged 1

29 7 i &I} 3 4 540 2 yaung 1

30 40 M I 1] 5900 4 ridd|e-aged 1

AN A3 t & 2 5,320 1 eldarly 1

32 48 F &I} 2 3,100 4 riddle-aged 2

33 40 i &It 1] 3,770 1 rmiddle-aged 1
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2

3 age SeK region  Children salary(’ 100000 opinion age_cat sex_mod

4 &1 E 4= 2 B,200 1 elderly 2

5 ki il UE 2 5,200 5 middle-aged 1

B 32 F == 3 8,140 1 young 2

7 65 F 4= 2 4 960 1 elderly 2

g 40 I e 3 4,770 4 middle-aged 1

5 32 F 4= 1 5,590 4 young 2

10 33 E o 2 3,200 2 middle-aged 2

11 48 I 4= 1 B,150 2 middle-aged 1

12 40 il 4= 1 4 450 3 middle-aged 1

13 44 I 4= 2 4 520 3 middle-aged 1

14 a7 F 4= 2 3670 4 middle-aged 2

15 21 F o 2 5430 2 young 2

16 43 il 4= 1 B.210 4 middle-aged 1

17 34 M e a 7800 3 young 1

18 38 I 4= 1 4,330 1 middle-aged 1

139 35 il &0 1 B 540 a middle-aged 1

20 35 I £ 0 5,320 3 middle-aged 1

21 33 F &1 3 4,630 & young 2

22 45 Il = 1 4 590 5 middle-aged 1

23 a7 Il £} i 4810 4 middle-aged 1

24 33 F &1 1] 5,810 3 middle-aged 2

25 7 F &0 2 5,600 1 middle-aged 2

26 42 F o} 2 5,340 1 middle-aged 2

27 43 I e 0 4,320 =3 middle-aged 1

28 a2 il Zuo} 1 4410 3 middle-aged 1

29 27 It o 3 4 540 2 young 1

30 40 il &0 0 5,900 4 middle-aged 1

3 63 I o} 2 5,320 1 eldarly 1

32 48 F 3 2 3,100 4 middle-aged 2

33 40 I Z1 1] 3,770 1 middle-aged 1
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SO I 3022 LIsH 5,266.330] Lt&2C 2 Hfl= 2HRA0I22 5,266.332H&
340/ S0 0% AMS G 012 PHLH HNS IEE AR =1 RS
ot= Nt=o HES 4 Hel(cell range)E XFE T3
=average(cell range)
S 2ot EO. &AM L20ME =average(E4:E33)0ICt OtLIS &2 E4:E330]
010l OIS0l XIFEAI W20 =average(salary)s 8ot =Ct. W
=had) Olets H~S HH(representative)tCt1) OIOIE = UASN? BZ2

2 M0l HEY o £ = A, DUt 2 S29 SIAEJ™e [0 5.1]8 22t
2 Q=D Y= BLE ot AUI 20 E20l =22 HHEHQ gLolctd 0l0F
feot HEL. 0l df= EHEle UE sas S&ot= 0l 2 L0ttt
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3 1,749 | 2813 | 2,785| 2508 | 1,373 362 64 9 8| 11,671
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8 10 47 159 505 | 1,206 | 1,721 | 1,627 869 409 6,553

9 6 7 20 85 235 421 640 563 516 2,493
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23| 0.082 | 0.134 | 0.165 | 0.211 | 0.208 | 0.116 | 0.055 | 0.020 | 0.010 1.0
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Mutual Fund Marketing

find details of all the mutual fund investments

Learn more about the Mutual Fund Products being
marketed by TMB.

MNow TMB Customers can make the best of the
emerging and growing robust stock markets by
investing in the Mutual Funds with the following premier
institutions. Their funds have performed relatively well
in the past. Please note, investment in mutual funds is
subject to market risks and past performance is no
guarantee towards future performance. Further, TMB
is only the marketing agent for the mutual funds and
has no role in the day to day activities and investment
decisions of the funds.
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(8) P(X = 195|n =215,p=0.90)
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StHE Q|2 SEHES & OtF0| ZXCH p= MRS S24H0| U &&ote ¥ WS
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30 | 2,8 00028 0.0025 0.0024 00023  0,0023 0.0022 0.0021 0.0021 0.0020 0.0019
31 29 00019 0.0018 0.0018 0.0017  0.0016 0.0018 0.0015 0.0015 | 0.0014 00014
32 3 00013 0.0013 0.0013 0.0012 00012 0.0011 0.0011 0.0011 0.0010 0.0010
338 | 3.1 00010 0,0004 0.0008 0.0008  0.0008 0.0008 0.0008 0.0008  0.0007 0.0007
34 | 3.2 00007 0,0007 0,00086 0.0008  0.0006 0.00086 0.00086 0.0005 | 0.0005 0.0005
S50 3.3 0.,0005 0.0005 0.0005 0.0004  0.0004 | 00004 00004 00004 00004 00003
36 3.4 00003 0.0003 0.0003 0.0003  0.0003 0.0003 0.0003 0.0003  0.0003 0.0002
37 3.5 00002 0.0002 0.0002 0.0002  0.0002 0.0002 0.0002 0.0002 | 0.0002 0.0002
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CONTACT US  SITE INDEX EAQ

UNIFED STATES
DEPARTMENT or
e TREASURY

OFFICE OF TAX POLICY.

Office of Tax Analysis

ORGANIZATION

News The Office of Tax Analysis (OTA) advises and assists the
Direct Links Assistant Secretary (Tax Policy) and her deputies in the —_—
e der p ,and imp of tax policies and Contacts

Key Topics

Press Room programs. The Office provides sconomic and policy analyses

leading to development of the Administration’s tax proposals and
also major Congressional tax pr

TAX POLICY
OFFICES

Immediate Office of the

OTa analyzes the effects of the existing tax law and alternative tax ey r——

programs and prepares a variety of background papers, position

papers, policy memeoranda, and analytical reports on economic Tax Legislative Counse|
aspects of domestic and international tax policy. OTA is International Tax
responsible for official Administration estimates of all Federal Counset

receipts included in the Presidents Budget and Mid-Session
Review, and revenue estimates for actual and proposed tax
legislation, earmarked revenue allocated to various trust funds, ® Office of Tex Analvsis
Treasury cash management decisions, and the Tax Expenditure

Budget. OTA staff also engage in tax treaty negotiations with

foreign governments and participate in mestings of intsrnational

organizations

Benefits Tax Counsel

OTA develops and operates several major micrasimulation
models and maintains large statistical databases to analyze the
economic, distributional, and revenue effects of alternative tax
Site Policies and Nofices proposals and tax systems. Many of the large microdata files

J used in OTA's models are developed from samples of tax returns
prepared by the IRS Statistics of Income Division under the
Office’s direction

OTA helps implement the administration of tax provisions by
assisting the IRS in developing studies of tax compliance and
taxpayer compliance burdens, developing and revising tax forms
and, working with the the Tax | eaislative Counsel, International
Tax Counsel, and Benefits Tax Counsel staffs, formulating and
reviewing tax regulations

OTa is divided into five divisions: the Business Taxation Division,
the Economic Modeling and Computer Applications Division, the
Individual Taxation Division, the International Taxation Division,
and the Revenue Estimating Division

Office of Tax Analysis Working Papers

OTA 2IEY AIOIE

01=2 23lo MI3&d AL FRI|22 AY HEN e M=o Zgs EIX &
M Office of Tax Analysis(OTA)gt JI2t0l Xt22 2l=l8tCt. OTAE E&2 F&E MEXNE O
AC=Z AIBHUO0IES AAISt U8 EONE H4ot=0I(S0 EDM=E S&ZH2Z Gt 2l
BNE00F ol A48 @F6t=0) OTAE 0lel EOAME Y & A4 AAlotn QUCH
et OTAE &M 155,0008 =+ 02 |Xlotd E22| IJIE 0ld 0IRZ 2tz =041
StCH 228 HE29 £2 £0IHet: Z=22 EL2 A0 0k sttt

B2 E20 20 A= MEXSS 5482 19202 2401 I U=l A&+, S2Al
W =2 Y3, B AS3Y SOILH StUHe $EES S3E 01&3dt= 240ICH 155,00082 &
32 UE OUS 2 S322H UE E22 FE00 0I=2 o032 &2 E22 g4ote A
OICH.
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M 02 SHE2 A "He 2MIF UEHHCH Oetd I &S0/ &2 20 548202 535
£ L= 280l S8 2E240icte SHE LHES 0186t0 ME+l, GRMB2
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AAHSYOR M2 2450 FH U AL SHS UMGIH Y5 Hol IHES
E6t LFHO AHMUEES AHEIIZ GtA AUHEeE WA 12.12 AISoCH
A [ e [ ¢ | o | e | F | & | H [ 1 T 4
RREES SEEN) BHMER) vy HA R TR DHE EXE WEZ A TR &
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3] 1972 a7 82.77| -0.86923077 -P456R9| 21.35433 K035337 3806074 -0106074 0.0711252
KR 1873 45 110,68 -0.06823077 3.343077 -023144 1117616 4673082 -0173082 0.029357
5 | 1574 42 975 -0.36923077 -9.83692) 3632095 96.7E506 4.263652) -0.063652  0.004052
B | 1878 49 116,88 0.330760231| 5543077 2525767 7298416 4834616 (085384 0004275
7] 1976 i 8019 -0.66A23077) -27.1469) 1816756 7369554 3.725927 0174073 0.030301
8| 1877 48 125.24) 0.230769231| 17.90308| 4131479 3205202 5125379 -0,325379 0108872
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17
18 | FORMULAS FROM RANGE C18:C19
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20 =k 1.23487185/C18. =B16-C18*C16
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( —Ha/2,n—2)SE ( ¥")), ¥'y+ /2, n—2)SE ( ¥'y)) (12.16)
o 219 A (12.13)W (12.16)2 AHEM AMIZPAS g, 0t H2SYC 0l IOl ULH =
0l &1 2,0l 20N ZOHESZE 20| HOHES L 4= UCH
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Mo J|I2)| B2 3,00 FIE 20 O £00 = = Y10 O Lot 4% =gH
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(08 123]00M y,—y = y—y, L y—y & § X 42 280 D=0 0l R4S

Sly—y)?=2(y—9,) +Z(y—y) (12.19)
(SST = SSE + SSR)
Al (12.19)9] EES Al (12.18)°] @& S mo SST(02 =4 ZHZs

= 0l
(SST(Total Sum of Squares))Olet 22C}H)0112 A9 28 S0A A Ry &
DS NEstgsS [ MI|l= SSEO|C)

$Q

= [ &Jl= SSEQ It &

o [[tetA  SSR(Regression Sum of Squares)2 &2 1 A
= 3Ll et SHA2 EFEA O

Ct. OI2 2AM=&0let 8l 2=, SSROl 0t

2HE 4 U= A0ICH

01210 2A2A0ICH TS [E 12.3]0 MEXQ 2AZAHI =M U=l 2tE3] 0/0F
JlotH
« TAEA2 SSRY IJIE ERO=Z W gHMSR) SSEE EAC=2 W ZH(MSE) HIWGt=
210ICt.

OIIN BZ22 Whols 20l 222 SSE diols Mg UsH == &gs 208
Ct. MSR, & &2 &g A2 I Fitg 895 = 222 BH0| 82 Mg AHAE &9 X
e 222 <, MSEN Hlol S0l A0YH 0lHE2 fAHS LXo Zitg A €10 &9
St E= AO0ICH 0lHst 22 F-2LE 0ISstCh 0|0 tis &¥2 &M Ns 40

n
N FHROZ BIIZ otAt. [E 123]0AM S, = Y (y,—y)*S A0S
i=1
Source of  Sum of Squares Degrees of Mean F*
Variation Freedom Square
Regression  SSR= B,S,, 1 SSR/1= MSR MSR/MSE
Residual SSE= Syy— B,S,, #n—2 SSE/(n—2) = MSE
Total SST(=S,,) n—1
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(A 12.1(A%)] @S HAS SHATEYOIZ 01R0{EICH

12.4]%t 2
el =

LD

Regression Analysis: 2 2 versus S 01 =+

The regrESS|on equation is
=1.23 + 0.0311 E0HH==

Predictor Coef  5E Coef T P
Constant 1.2349 04313 2.86 0.015
S0HIH== 0.0310684 0.003984 7.80 0.000

5 =0.202636 FR-Sa=84.7% FR-Saladi) = 83.3%

tnalvsis of Yariance

Source OF 5o M3 F P
Regression 1 2.4960 2.4950 60.¥9 0.000
Residual Error 11 0.4517 0.041

Total 12 2.9477

Predicted Yalues for New Observations

=
Obs Fit SEFit 95% Cl 5% P
1 51179 0. DQDI (4.9197, 5.3162) (4.6299, 5.6080)

Yalues of Predictors for Mew Observations

Hew
Obs 20K
1 125
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O [E 124]0Md FE3AHAS EH

y =1.23+0.0311.X

012 MSE =s=0.202636, Z8H = 84.7%t LI Lot BLUEHN 28 NS

SST = 2.9477 with d.f. = 12
SSE = 0.4517 with d.f. = 11
SSR = 2.4960 with d.f. = 1

2 AMERAD HEote HRER UE B MS(S)2

MSE = SSE/1 = 0.0411
MSR = 2.4960,1 = 2.4960

Ol O & BZM=2 bt ZH20AM 2= F-8L0IC
F-gt = 2.4960/0.0411 = 60.79

Ol F-gt2 F(dft =1, dfe= 11)2l 2XZE [ECH del

el =Soff Z0HoH==Jt 1250i 2 BHEH=ICh
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=1.23+0.0311(125) = 5.1179
2 AT 95% slZ-2te ZUS0AM 95% PIGIA = = UL

(4.6299, 5.6060)

o

CESt S0HH==It 125012 FOH/E I Bz =0 e d2F22 95% ClIHM = =

(4.9197, 5.3162)
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A 12.5 | HAEHS §0F FAEAS 0220 S0

OfATRStHA

[E 12.11]2 19874 58 622RH 78 220X 0l= 2AEXHS OtAL
bR OtATCEAHAS S Z30ot0 == 30HA 288+, GR, NS, DSet=

= JlEst N=Z0|
GRE OtAtetHAL =MEZZ 2XZ M BHa NS= |8 20 Js =719 =8 IS
St Bl T2l DSE &019 AH XNE2 M |80 As 2719 422HSH = (Quartile
coefficient of dispersion), (Q,— @,)/22 22 JIEs BXE 208}, & K382 RHe
2E 18242 JIFENH AW 2018 It E2W OtALtetAHA =019 NE2 HO0E 20|
Ct. =, NS& =012 @23J|€ X&dt DS= =719 HEs2 XEFs Ha0I0
Olddst MHze AHEEES 0180tH OtALletAHA SIHUMAE MBS 22 Z8ots Mad
s = O =2 QAZEN AEE = UAs A0t <OFATREFH A xIs>
GR NS DS Price GR NS DS Price GR NS DS Price
600 45 33 45 625 12 7 121 600 14 8 100
300 30 25 55 500 11 8 112 950 22 20 126
550 12 8 97 575 12 7 82 650 14 17 126
600 15 9 100 850 14 17 121 550 12 8 91
500 18 20 82 600 12 9 90 600 12 8 93
525 36 25 64 350 28 14 46 625 15 17 100
600 12 14 93 575 18 9 82 550 19 20 79
650 12 14 105 550 12 8 98 650 18 27 100
550 19 20 69 900 26 25 146 500 24 20 81
500 10 14 96 700 15 27 106 475 12 7 97

X122 Berndt(1991)
GR, DSE 100x Q1X], JtA2 100x$2 el
[E 12.11] OtATIZIHA X2

A2y Qs 243 9= @



Regression Analysis: Price versus GR, NS, DS

The regression eauation is
Price =471 + 0,118 GR - 1,42 NS + 0,095 DS

Predictor Coef  SE Coef T F
Constant 47,10 11.60 4,08 0.000
Gh 011824 0.01759 6,72 0.000
kS -1.4184 0. 4181 -3.39 0.002
0s 00857 0.4626 0,21 0.838
5=11.6722 BR-S0=77.3% FR-Saladi) = 74.6%

tnalysis of Yariance

SOLIrce OF o M3 F P
Fearession 3 1205331 4011.0 23,44 0,000
Residual Error 26 30422 136.2
Total 29 15575.4

[E 12.12] OtATIIAHA X2 3HEA 20

Residuals Versus the Fitted Values
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= MA & =2

= A 82 0SS B2 HMoist 20 Hlwsto T 2l A
BGLA %0t FBEECZ2=

DSE+E MHE 2= HEotHE ECH.

The regression equation is
Price = 46,6 + 0,120 GR - 1.35 N3

Predictor Coef SE Coef T P
Constant 45,58 1112 4,19 0.000
GR 011962 0.M599  7.48 0.000
Na -1.3515  0.2602 -5.19 0.000

S=11.4634 R-5q=77.2% F-Saladi) = 75.5%

knalvsis of Yariance

Source OF 33 M3
Rearession 2 120273 EDIS T 45, ?E 0. DDD
Residual Error 27 3848.1 131
Total 79 15575.4
[E 12.13] DS B HHE JHEM ZUE
(O 12.11]0 22 S22 st &XE AET AAl 0|4 EE LASIK RA;UCH

Residuals Versus the Fitted Values
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N

94, 4%
F
254,97 0.000

R-Saladi )
W3

16.1

53
7684.2 38421

421.49

2
28
30 B106.1

Coef SE Coef
-57.938
DF

4.7082
R-50 = 94.8%

-8B0+ 47 D+ 0.33H

12.15]

Regression Analysis: V¥V versus D, H

&he regression eguation is
Constant

S = 3.808183

Bnalysis of Yariance
Rearession

Residual Error
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SRESI

Scatterplot of SRES1 vs D

[E 12.16]2 B
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S0 Hich 2

AA[OE 12.14]9 EXHE HA

DE H

Regression Analysis: V versus D™2, H

The regression equation is
Yy =-275+ 016802+ 0,349 H

Coef  SE Coef T F
-27.512 6.558 -4.20 0.000
0.168458 0.006679 25.22 0.000
0,34881 0.09315  3.74 0.001

Predictor
Constant
oz

H

S=2.79945 R-Sy=197.3% PR-Sglad) =97.1%

tnalvsis of Yariance

DF 55

¢ TBA6.6 3943
28 2194 7
a0 BI06A

M F
.3 50317
A

SOUrce
Fegression
Residual Error
Total

[E 12.16] D 8= Xl

X
(=)

2k
BA

Ol 4502l VvMSE=
Old g0l diohA= Ot

A== S
S|

(i

A

°
—I’CT‘%

P
0.000



Residuals Versus the Fitted Values
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[E 12.17]2 1998 2 E 2002ENX =& 2 FAIS 2I/18 WEH0ICH <IHESH xIs>
s | B | c© | E

1 Time Actual

2 | Year  Otr  Period Sales

31898 |1 1 F624.2
4 2 2 5841
5 3 K] F76E5.4
B | 4 4 85823
T o198 1 a] fag5.4
8 2 ] F67Y.0
9 3 ¥ £1,006.6
A0 4 g F11221
A1 2000 1 g F1,1635.4
A2 2 10 F9593.2
A3 3 11 F1, 3124
14 4 12 §1,845.3
9 2001 1 13 $1,5496.2
A6 | 2 14 §1,260.4
AT 3 15 $1,735.2
15 4 16 F2,028.7
9] 2002 | 1 17 $2107 .8
20 2 18 §1,6450.3
21 3 149 $2,304 4
2 4 20 263584

[E 12.17] 2J1€ & X2

SLYE0e=E OIxgAae 2oz GtEl FAEE Fot BUCH Ole G3W 22 BEE82
HE A2l e

y=06,+pit+ 511752 (12.29)

2 CHl MEDH UCH cld &€ DOl Al 8g8is t2 Mss O3

Ct21 201 U=Ck

Y, = 653.67 + 16.671t + 3.617t*

OIZ OIZ5l0{ 20032 Zash 2 2J|8 MSAS 2501 S FOIl MES 20ICH = 2003
SOl tl=gt2 toll ¢ =21,22,23,242 CHSH0f B 20ICH



$3,500

$3,000

$2,500

000s)

> §2,000

$1,500

Sales (in $1

$1,000

Actual Sales

$500 Quadratic Trend

§0

13 5 F 9 11 13 15 17 19 M 23 25
Time Period

[O8 12.15] OIXtEAC2 2 FAMH

[0 12.15]01A 282 'y, = 653.67+ 16.671t + 3.617£22 =& Al U &oICt [E
12.18]12 012 Helgh HOICH

A& || ¢ | D | E | F

1 Time Actual | Quadratic
2 | Year | Otr | Period Time#®2 Sales Trend

318493 | 1 1 1 6842 F674.0
4 2 2 4 5841 Fr01.4
N 3 3 g Frea4 Fra62
B | 4 4 16 FBaz23 Ervaz
718499 1 a] 25 fEa54 FE2T 4
a8 | 2 f 36 FGTYT.O fE83 4
49 | 3 7 44 §1,006.6 5947 6
10| 4 g 64 F1,1221 F1,012.5
1] 2000 1 E] a1 $1,163.4 $1,0496.7
12 2 10 100 F9a32 F1,1821
13 3 11 121 11,3125 12747
14| 4 12 144 $1,545.3 $1,37T46
15| 2001 1 13 169 $1,596.2 1,481 .6
16 | 2 14 196 $1,260.4 $1,596.0
a7 3 14 225 §1,735.2 F1,717.5
18| 4 16 256 22,0297 $1,846.3
19 2002 | 1 17 289 F2,107.8 F1,982.4
20| 2 18 324 31,6503 F2,125.6
21 3 14 261 F2,304.4 F2,276.1
22 4 20 400 26394 $2,433.8
23] 2003 | 1 1 441 - §245498.8
24 | 2 22 454 - §2771.0
25| 3 23 A29 - $2,940.4
26 | 4 24 ATE - F3,1371

[E 12.18] OIX2E F=AMA

A2y Azt 243 9= @R



HEXQ BsS NG| fIohA eHel 2t=gtn =gt Hi(ratio)E Gt O0F SHCY.
HE S0 19984 1=2JI=
684.2/674 =102%
stth. g S8 12

Z et J8 Os 2 127128 822 WO HZUHASE HS00

(102+107+106+108+106)/ 5 = 105.7

£ P& [HE 12.19]E & X6tet
A B C D E F G H J K
1 Time Actual Quadratic Actual as a  Seasonal Seasonal
2 | Year  Otr  Period Time?2 Sales Trend % of Trend = Forecast Otr Index
3 1898 | 1 1 1 6842 F674.0 102% $7126 1 105.7%
4 2 2 4 5841 $701.4 83% $561.9 2 80.1%
5 3 3 9 $765.4 $736.2 104% $758.9 3 103.1%
3 4 4 16 8923 §7782 115% jeR4.8 4 111.1%
718939 1 ] 28 8854 Fe27.4 107% $8749
g 2 5 36 F677.0 2939 TT% §708.0
] 3 7 49 $1,006.6 947 6 106% $976.8
10 4 g G4 $1,1221 §1.018.45 110% $1,131.8
11| 2000 | 1 9 a1 51,163.4  $1,096.7 106% F1,159.6
12 2 10 100 $993.2 | §1,1821 34% $946.8
13 3 11 121 $1.3128 0 §1,2747 103% $1,314.0
14 4 12 144 51,5453 0 $1,3746 112% §1,5827.4
14 | 2001 1 13 169 $1.596.2  §1.481.6 108% $1,566.6
16 2 14 196 51,2604 | $1,596.0 79% $1,278.4
17 3 15 225 17352 §1,7174 101% §1,770.48
18 4 16 286 $2,028.7  §1,846.3 110% $2,051.7
19| 2002 | 1 17 289 $2107.8 0 §1,982.4 106% $2,096.0
20 2 18 324 51,6903 1 $2125.6 78% F1,702.6
21 3 19 361 $2,304.4  §2.276.1 101% $2,346.3
22 4 20 400 $2,638.4 $24338 108% §2704.6
232003 1 21 441 - §24608.82 - §2,747.8
24 2 22 484 - §2771.0 - $2,219.6
25 3 23 529 - §2,950.4 - $3,041.4
26 4 24 a7h - §31371 - $3486.1
[E 12.19] HZ QA AL
[0 12.16]2 OIXEAS JH2EES 0I88 GlSatdt 2589 Hlw O8O0l 201 =%
st 292 JtK1 240K 20tE DA 2=01?
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Sales (in $1,000s)

F4,000

$3,500 |

3,000

§2,500 |

2,000

§1.500 ¢

1,000

Fa00

F0

—Artual Sales

—— Multiplicative
Seasonal Model

] 7 9 11 13 14 17

Time Period
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128 gs=2N

Country GNPCapita PopGrowth Calorie LifeExp Fertility
Antigua_&_ Barbud 4595 0.5% 2222 7 1.9
Argentina 2369 1.4% 3118 7 2.8
Bahamas 11514 1.9% 2678 69 2.2
Bangladesh 199 2.6% 1925 52 4.8
Belgium 15444 0.1% 3942 7 1.6
Belieze 1974 2.8% 2649 68 4.7
Benin 362 3.2% 2145 5 6.3
Boliva 619 2.8% 2086 54 5.9
Botswana 2042 3.4% 2269 68 4.7
Brazil 2682 2.2% 2709 66 3.2
Burkina_Faso 328 2.6% 2061 48 6.5
Cameroon 941 3.2% 2161 57 6.5
Canada 20449 0.9% 3447 77 1.7
Central_African 393 2.7% 1980 51 5.8
China 367 1.5% 2632 70 2.5
Columbia 1242 2.0% 2561 69 2.9
Comoros 478 3.7% 2046 55 6.8
Congo 1008 3.4% 2512 54 6.6
Costa_Rica 1907 2.4% 2782 75 3
Czechoslovakia 3139 0.3% 3564 72 2
Dominica 1951 1.2% 2877 75 2.8
Dominican_Rep. 819 2.3% 2357 7 3.5
Egypt 603 2.5% 3213 60 4.1
E1_Salvador 1097 1.5% 2415 64 4.6
Ethiopia 118 3.1% 1658 48 7.5
Fiji 1770 1.7% 2763 68 3
France 19481 0.4% 3310 77 1.8
Gambia 262 3.3% 2360 44 6.5
Germany 1825 0. 0% 3594 75 1.5
Greece 5996 0. 4% 3699 77 1.5
Guinea 482 2.5% 2042 43 6.5
Guinea-Bissau 179 1.9% 2690 40 6
Guyana 367 0.5% 2373 64 2.8
Iran 5167 3.5% 3100 63 6
Israel 10972 1.7% 3138 76 2.8
Jamaica 1509 1.2% 2572 73 2.4
Jordan 1244 3.6% 2907 68 6.3
Kiribati 771 1.9% 295 55 4.2
Korea_Rep. 5454 1.1% 2878 70 1.8
Lao_PDR 209 2.8% 2637 50 6.7
Lesotho 470 2.7% 2307 57 5.6
Luxembourg 28770 0.4% 3942 75 1.5
Madagascar 233 2.9% 2101 51 6.5
Malawi 195 3.4% 2009 48 7.6
Malaysia 2339 2.6% 2686 70 3.6
Malii 271 2.5% 2181 48 7
Malta 6635 -0.5% 3318 73 2.1
A2 astael =43 9= QP




Mauritania 501 2.4% 2528 47 6.8
Mexico 2490 2.0% 3135 70 3.3
Morocco 948 2.7% 2820 62 4.7
Nepal 172 2.6% 2078 52 5.7
Netherlands 17333 0.5% 3354 77 1.5
New_Zealand 12683 0.8% 3459 75 2
Niger 309 3.4% 2340 46 7.1
Panama 1825 2.1% 2468 73 2.8
Papua_New_Guinea 861 2.5% 2236 55 5.1
Paraguay 1112 3.2% 281 67 4.6
Portugal 4887 0.6% 3382 75 1.6
Romania 1636 0.4% 3357 71 2.1
Sao_Tome 382 2.8% 2657 66 5.1
Senegal 708 3.0% 1989 49 6.5
Seychelles 467 0.7% 2146 71 2.8
Sierra_Leone 237 2.4% 1806 42 6.5
Solomon_Islands 577 3.5% 2115 65 6.5
Sri_Lanka 469 1.5% 2319 71 2.4
St. _Kitts_& Nevi 3325 -1.2% 2801 70 2.6
St._Vincent 1614 1.0% 2818 70 2.6
Sur iname 3054 2.5% 2809 68 3.4
Sweden 23678 0.3% 3007 78 2
Switzerland 32786 0.5% 3547 7 1.6
Tanzania 113 3.1% 2151 5 6.6
Togo 405 3.5% 2133 54 6.6
Tonga 1010 0.5% 2980 67 4
Trinidad 3475 1.7% 2960 72 2.8
Uganda 220 3.2% 2013 49 7.3
United_Kingdom 16074 0.2% 3252 76 1.8
Venezuela 2562 2.8% 2547 70 3.5
Western_Somoa 733 0.6% 2477 66 4.7
Zambia 418 3.7% 2026 54 6.7
Zimbabwe 644 3.4% 223 64 4.9

12.1 0l Tt=2= MA 2=0l ol =& & MXE XU=O0ICH

* country : Lt2t0l&

*» GNPCapita : GNP per capita(£&)

* POPGrowth : 1980-1990EIXl IHAIEIX] & QIPHS

* Calorie : daily per capita calories

* LifeExp : MMOIE JIECZ & I

* Fertility : (41Xt oIS SME

ChS Ml JIXl Sl 2AR2Es 426t

(1) Bt 4 LefeExp, & HBEHZ : Calorie, Fertility

(2) BF2H 4 LefeExp, & B2 : GNPCapita, PopGrowth

(3) Bt2H 4 :GNPCapita, &¥bB % : PopGrowth, Calorie, Fertility
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fahb 3. Disease free survival for patients and treatments charac-
teristics (univariate analysis)

Years overall survival(%)
Factors P value
1YR 3YR 5YR

Child classification

A 476 42 35

63
B 21 (2] 40 30 0901
ICGR15
<20 423 63 41 36
=20 21 (] 40 30 A362
AFP
<20 146 78 53 45
=20 321 56 35 28 o
HbsAg
() 111 71 49 40
0.018
(+) 376 0 38 31
Anti-HCV
(- 351 64 43 36 0517
(+) 41 60 31 27
Op time{min)
<300 349 65 43 37
0.018
=300 144 58 34 27
Transfusion
(-) 362 67 45 38
0.000*
(+) 131 53 30 24
Resection margine (cm)
<1 191 35 36 29
=1 291 68 44 37 RO%S

*Statistically significant in multivariable analysis.
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